

R M M

ROMANIAN MATHEMATICAL MAGAZINE

www.ssmrmh.ro



For $1 \leq a, b, c \leq \frac{2\sqrt{3}}{3}$, prove that:

$$\sqrt{4-3a^2} + \sqrt{4-3b^2} + \sqrt{4-3c^2} + (a+b+c)^2 - 3(a+b+c) \leq 3$$

Proposed by George Apostolopoulos-Messolonghi-Greece

Solution 1 by proposer, Solution 2 by Tran Hong-Dong Thap-Vietnam

Solution 1 by proposer

First, will prove that $\sqrt{4-3a^2} \leq -3a^2 + 3a + 1$. We have:

$$\begin{aligned} -3a^2 + 3a + 1 - \sqrt{4-3a^2} &= 3a(1-a) + \frac{1-(4-3a^2)}{1+\sqrt{4-3a^2}} = \\ &= 3a(1-a) + \frac{3a^2-3}{1+\sqrt{4-3a^2}} = 3a(1-a) + \frac{3(a-1)(a+1)}{1+\sqrt{4-3a^2}} = \\ &= 3a(1-a) - 3(1-a) \cdot \frac{a+1}{1+\sqrt{4-3a^2}} = 3a(1-a) \left(\frac{a+1}{1+\sqrt{4-3a^2}} - 1 \right) = \\ &= 3a(a-1) \cdot \frac{a+1-1-\sqrt{4-3a^2}}{1+\sqrt{4-3a^2}} = 3a(a-1) \left(\frac{a-\sqrt{4-3a^2}}{1+\sqrt{4-3a^2}} \right) = \end{aligned}$$

R M M

ROMANIAN MATHEMATICAL MAGAZINE

www.ssmrmh.ro

$$= 3a(a-1) \frac{a^2 - 4 + 3a^2}{(a + \sqrt{4 - 3a^2})(1 + \sqrt{4 - 3a^2})} =$$

$$= 3a(a-1) \cdot 4 \cdot \frac{a^2 - 1}{(a + \sqrt{4 - 3a^2})(a + \sqrt{4 - 3a^2})} = \frac{12a(a-1)^2(a+1)}{(a + \sqrt{4 - 3a^2})(1 + \sqrt{4 - 3a^2})} \geq 0$$

Equality holds when $a = 1$. Similarly:

$$\sqrt{4 - 3b^2} \leq -3b^2 + 3b + 1, \sqrt{4 - 3c^2} \leq -3c^2 + 3c + 1$$

So,

$$\sqrt{4 - 3a^2} + \sqrt{4 - 3b^2} + \sqrt{4 - 3c^2} \leq -3(a^2 + b^2 + c^2) + 3(a + b + c) + 3$$

We know that $a^2 + b^2 + c^2 \geq \frac{1}{3}(a + b + c)^2$. So,

$$\sqrt{4 - 3a^2} + \sqrt{4 - 3b^2} + \sqrt{4 - 3c^2} \leq -(a + b + c)^2 + 3(a + b + c) + 3, \text{ namely}$$

$$\sqrt{4 - 3a^2} + \sqrt{4 - 3b^2} + \sqrt{4 - 3c^2} + (a + b + c)^2 - 3(a + b + c) \leq 3$$

Equality holds when $a = b = c = 1$.

Solution 2 by Tran Hong-Dong Thap-Vietnam

Because: $1 \leq a, b, c \leq \frac{2\sqrt{3}}{3} \Rightarrow 3 \leq a + b + c \leq 2\sqrt{3}; 4 - 3a^2, 4 - 3b^2, 4 - 3c^2 \geq 0$

$$\text{Now, } \sqrt{4 - 3a^2} + \sqrt{4 - 3b^2} + \sqrt{4 - 3c^2} \stackrel{c-s}{\leq} \sqrt{3[12 - (a^2 + b^2 + c^2)]} \stackrel{\sum a^2 \geq \frac{(\sum a)^2}{3}}{\leq}$$

$$\leq \sqrt{3(12 - (\sum a)^2)} = \sqrt{3(12 - t^2)}$$

We need to prove:

$$\sqrt{3(12 - t^2)} + t^2 - 3t \leq 3; (\because 3 \leq t \leq 2\sqrt{3}) \Leftrightarrow$$

$$\sqrt{3(12 - t^2)} \leq 3t + 3 - t^2 \Leftrightarrow$$

$$3(12 - t^2) \leq (3t + 3 - t^2)^2; (\because 3 \leq t \leq 2\sqrt{3} \Rightarrow 3t + 3 - t^2 \geq 6\sqrt{3} - 9 > 0) \Leftrightarrow$$

$$t^4 - 6t^3 + 6t^2 + 18t - 27 \geq 0, \text{ which is true because: } t \geq 3 \Rightarrow (t - 3)^2 \geq 0 \Rightarrow$$

$$t^2 - 3 \geq 6 > 0.$$

Note by editor:

Many thanks to Florică Anastase-Romania for typed solutions.